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B.Sc. Il Year Examination, 2019 (Unified Syllabus)

CHEMISTRY-IV Inorganic Chemistry
: 3 His ] ~ (A-206) [M.M.:50

Note :

Note :

1. (i)
(i)

(iii)
(iv)

V)

(vi)

T -0 3 e vat-or, @, W, T U § 3 Rvifdra R &1 @vs-ar (w1 38 o) # o g SR e
&, Forers aer wm & 2 s e v v €1 veh-a, 4, T aun § (frqa Ieig we) e A & e €1 IS
SAUS X 0 51 e 1 Rrega 3R s 1 Section-A
Wéi‘%jﬁ'ezagaai’mm%, forrs @ W &1 & ot &y v arfard €1 g T 2 27 @ 2
Fe™ & Mn AT & Fraata gt 3 o Dl |
Calcglate the magnetic moments of Fe*? and Mn*? ions.
;gmmmmﬁhaﬁmﬁﬁwhﬁmmmmﬁﬁm
Ve an example of transitipn element showing +8 oxidation state.

I SareT “g_l??f 41 8 €2 Why chelates compounds are more stable?

[AQCLL™ & [PACI)* sife aifirast & swrdy TRHAI] HHiD! (EAN) 3 0T Bifsel

Calculate effective atomic number (EAN) of [AgCl,)™ and [PdCl4]*~ compiexes.

- [CO(en)2 Cly)" & ¥ wrwsnfit s Tt iy §RA|

Draw all possible optical isorners of *
0aPUZ® J 238 & 5 [CO(.en)z CLI" , 239 238
92 AT @RM? How will you obtained g4Pu“™ from go,U~~°?

(Vll) ﬁ@msg IPu & 'cﬁRUﬁ BN [T BT | Explain the causes of Lanthanide contraction.
(viii) WTeTH 2] e faftrat o a0 HSEIDiscuss Smelting and Calcination methods.

(ix)

(x)

Note :

CrOsTd CH;CI 3upsit # Xeaifere sRAmpRit &Y sitadiamor dwar siq S|
Calculate the oxidation states of underlying atoms in CrO

. : { Js and CH3Cl molecules.
FrfeiRad araii & [ R @Y feilRaw: Write down the conjugate bases of following acids:
(a) NH (b)H 0" (c) HCO] (dCH, ~.

: . Sections-B,C,D & E
S @0 3 &1 59 & | Felids TUS UG e el | 5 S 7.5 37 a1 &1 Rt 3 afarr &)
: : ' Section-B
S| 0T & BRI dedl & JAT8e] B AHRT aivl &7 qui I9a) AaIARUT & ¥ YR W S0l
Describe the general characteristics of oxides of first row transition elements on the basis of their
Ayar

oxidation states.

f=feiRaa @ awsse: Explain the followings: _
(a) 3d-sild & daal @ ITAID Q‘q’ﬁl @& B 21 Poor reducing properties of 3d block element.

| (b) Zr T Hy UHaH 3MHR & 81 &1 Zr and Hy shows similar size.

(c) Zn vd Cd &7 € @fdA Hg &dl Hg is liquid but Zn and Cd are solid.
(d) 3T el vd @@UHid aid 1 High melting and boiling points. S
7 i iti d catalysts. ection-

e) . JIPRUT dcd 31T ISR 31 & Transition elements are good ¢: .
%@Waﬁﬁrﬁﬁq@w#aﬁ%ﬁmwaﬁm&w‘ .H%HHTJTT&?I%R‘II |
Describe the different types of isomerism found in coordinate compounds with examples. 3wl
R 3aseRiarsn difiia) & snfdas g fafae! p——
Give the molecular formulas of the following coordina |ohr; c‘d P uprate. "

Mg aﬂ‘lﬁ'gf agq-i—g mecnium-tetra chlondo © ‘
(a) 37 SR %n;ﬂﬁz (lll). Hexa ammine Iron (Ill) - Hexa cyanolchromate (1)
(b) &awm 3= 3maz (I1)- ; )= @31 u-amido bis (penta ammine cobalt lll) nitrate.
(c) y-offr forw (8 ot @I ( lene diammine cobalt (Ill)-Sulphate.

I tris ethy
(d) Bwrd g1 3 araree (1) Aehe | S
(e) @‘gmqsnﬂq a1 Rrarl 81§ 3ifei Wmﬁchroma(te zV')- - Section-D

: ioX X0
Potassium-ammine dicyano dioxo pero
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6.

mﬁuéa XA N ergE frraor o faftr @ v ¥ s e faft fafer % Lu™® 3 @ sifaw
™ 3'3.'\'?\?[ ) ﬂi'\ifﬁf #M? Discuss in detail the extraction of Lanthanides from the monazite sand.
How you will get Lu™™ ion comes out as a last Lanthanide in ion exchange method? 3ran

P & T e aa #P R B R @l 4y Fresffa foan s 2 Qferm aen g il &
3ITA & quiH DS What are the principal sources of Uranium? How is the metal extracted from pitch
blende? Describe the uses of uranium and its compounds. Section-E
Remaet & affexor o i faaeT Sifsel o SRR T e B qer fiemae & FrefRaa s
ReRTP! & MR W HRE| Give a brief account of classification of solvents. Compare liquid ammonia and
water on the following physical parameters of a solvent:
(a) ZT=arnl Viscocity. ’
(b) =rE-3aifags RRRi® | Dielectric Constant.
(c) gmcd fRRi®|Trouton Constant. o
(d) fez@ ameefiDipole Moment. ‘ ‘

3Rdl

(e) ﬁf?ﬁfﬁgﬁﬁmlsmciﬁc Conductance. ) .
|, U Br, 31T &1 Ua faer {5 (; & Bry &z sar &1 sAR el B A 1M A I A B A

e aififoar Enir? i 3rg el b geiags firer@ #- 1, and Bry are added to a solution containing /;
and Br, ions. What reactions would occur if the concentration of each species is 1 M? The electrode
potential of both half cell reactions are: '
(i) lp+2e” —— 2I7, E°=054V
(ii) Br2 + 2¢— — 2Br, E°=1 .08V
e T Sclaets fava o 2nT? Calculate Electrode Potential of the cell. :

- o= mman 111 CudlAakiie)
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